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Zonmbr 
NEPALI 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 
Time allowed : 3 hours Maximum Marks : 80 

THE QUESTION PAPER IS DIVIDED INTO FOUR SECTIONS : 

SECTION A :  Reading Comprehension  (n‹T>mB H$m¡eb ~moY) 15 Marks 

SECTION B :  Grammar  (ì¶mH$aU) 15 Marks 

SECTION C :  Writing & Composition  (boImB Ed§ aMZm H$m¡eb)  25 Marks 

SECTION D :  Literature  (gm{hË¶) 25 Marks  

 H¥$n`m n{hbm gw{ZpíMV hþZwhmog² {H$ `mo àíZnÌ_m Oå_m 7 n¥îR>hê$ N>Z² & 
 Ë`gn{N> Cå_oXdma Ûmam àíZnÌH$mo Xm{hZon{Å> {gamZ_m ^EH$mo H$moS> g§»`m CÎma nwpñVH$mH$mo 

erf©H$s` n¥îR>_m bo»ZwnZ}N> & 
 H¥$n`m Om±M JZw©hmog² {H$ `mo àíZnÌ_m Oå_m >7 dQ>m àíZhê$ N>Z² {H$ N>¡ZZ² & 
 H¥$n`m haoH$ àíZH$mo CÎma bo»Zw^ÝXm n{hbm àíZ g§»`m bo»Z Z ŵëZwhmog² & 
 `mo àíZnÌ n‹T>ZH$m {ZpåV 15 {_ZQ>H$mo g_` {XBEH$mo N> & àíZnÌ {~hmZ 10.15 ~Oo {dVaU 

J[aZoN> & {~hmZ 10.15 ~Oo Xo{I 10.30 ~Oo gå_ {dÚmWubo àíZ-nÌ _mÌ nT²>Zw nZ}N> a Ë`g 
Ad{Y {^Ì CÎma nwpñVH$m_m Hw$Z¡ CÎma bo»Zo N>¡Z &   

 Please check that this question paper contains 7 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 7 questions. 

 Please write down the Serial Number of the question before 
attempting it. 

 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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SECTION A 

1. (A) {ZåZ n[aÀN>oX n‹T>oa gmo{YEH$m àíZhê$H$m CÎma bo»Zwhmog² :  

  gË` a gm¡ÝX`©à{V {ZîR>mdmZ, ñnîQ>, {ZS>a a ñdm{^_mZr M[aÌH$s YZr nm[aOmV 

XodH$moQ>m n{N>H$m gdm©{YH$ à{V^membr gm{hË`H$ma _m{ZpÝN>Z² & {dabH$moQ>rH$mo gm{hË` aMoa 

Zonmbr g§ñH¥${V ^ÊS>ma gånÞ nmZ} `r _hmZ H$bmH$maH$mo OÝ_ XmOu{bL>H$mo {bL²>Jr 

{M`mH$_mZ_m gZ² 1937 _m ^EH$mo {W`mo & Am_m A_¥V _moŠVmZ a ~m~m S>m. Ho$.Eg. 

dmB~mbo {`ZH$m {ZpåV {dîUw Hw$_mar dmB~m Zm_ OwamEH$m {WE, Va Am\¡$bo amoOoH$mo  

‘nm[aOmV’  H$mo ZmC±~mQ> g§gma^[a N>[aEH$m Zonmbr ^mfrhê$H$m gMoV VãH$m~rM n[a{MV a 

{à` ~{ZZ² & Ë`{V _mÌ hmoBZ, g§`wº$ amÁ` A_o[aH$mH$mo _oarë`mÊS> `w{Zd{g©Q>r_m n{Z 

nm[aOmVbmB© AmO n{‹T>>>±X¡N>/n‹T>mB±X¡N> &   

  ‘~ÝXr ghm`Vm {Z`moJ’ g§ñWm Imoboa H$m_ JX£ Aghm` ~ÝXrH$m Am\$ÝV ~ÞnwJoH$s 

nm[aOmV Vr ~ÝXrhê$H$m {ZXm}f ~ƒmhê$H$m {ZpåV ‘~Moam ~mg’ Zm_H$ godm_ybH$ g§ñWm 

Imobr dmËgë` {XZo A{^^mdH$ ~ZoH$s {WBZ² ^Zo AÝ`m` a CËnr‹S>Z² Po{bahoH$m g~¡ njH$m 

_m{Zghê$H$m {ZpåV b‹S²>Zo ^amogm`mo½` `moÕm ~Zoa {`Zbo B{VhmgbmB© g_oV AmâZmo _yë`m‘>Z 

a ñWmZ {ZYm©aU JZ© ~mÜ` nm[aZ² & Zmar OmJaUH$mo {ZpåV CZH$mo H$b_ n{Z {ZaÝVa Më`mo & 

‘nm[aOmV’ ZmC± _mÌbo n{Z bmIm¢ – H$amo‹S>m¢ OZVmH$m Am|R>_m _wñH$mZ a AZwhma_m {dídmg 

OÝ_mCZ gŠZo nm[aOmV H$amo‹S>m¢ _mÝN>oH$m naobrbmB© {^OmC±X¡ gZ² 1992 – _m {~{VZ², Va 

CZH$mo OrdZ a H$_© AmO ^mÌ hmoBZ ^mo{bH$mo nr‹T>rH$m {ZpåV n{Z OrdZXm`r àoaUmH$mo 

lmoVH$m ê$n_m X[aZoN>Z² &  

(H$) ‘nm[aOmV’ H$mo hþZ² bo»Zwhmog² & 2 

(I) nm[aOmVH$mo OÝ_ H$hm± ^`mo ? Am_m-~m~mbo am{I{XEH$m Zm_ bo»Zwhmog² & 2 

(J) CZH$mo boI H$hm± a Hw$Z `w{Zd{g©Q>r_m n‹T>mB±X¡N> ? 2 

(K) nm[aOmV H$g-H$gH$m A{^^mdH$ a `moÕm ~{ZZ²> ? 2 

(L>) ‘~Moam ~mg’ ^Þmbo Ho$ ~w{PÝN>> ? 2 
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 (Am) {ZåZ{b{IV nÚ n‹T>oa gmo{YEH$m àíZhê$H$m CÎma bo»Zwhmog² : 

 Hw$g“V_m naoH$m ~X_me N>moam ^E  

 _oam àH$m{eV H${dVmhê$ &  

 N>m‹S>r JE _bmB© AbÝVma_m &  

 Hw$Z¡ Hw$Z¡ Vm Q>m‹T>¡~mQ> {\$ñg hm±goa {h>±‹‹S²>Zogå_ ^E &  

 {MÆ>rgå_ ZnR>mCZo H¥$V¿Z naXoer ^E &  

 

  

 Va _oamo AaWr CR>mCZ AmCZoN>  

 Ë`hr gY¡>>±H$mo _oamo AÝVaH$mo A{b{IV H${dVm &   

 dfm£Xo{I _bmB© Z¡ ê±$Joa ~goH$mo  

 Ë`mo _oamo gm»I¡ H${dVm &  

 Ho$hr JZ©g{H$Z± {dMam Ë`gbmB©  

 ZboIoa AÝ`m` Z¡ Ja| {H$ Š`ma & 

 

(H$) H${d AmâZm àH$m{eV H${dVmhê$bmB© H$ñVm ^E ^ÝN>Z² ? 1 

(I) H${dbmB© AmâZmo AaWr CR>mCZ H$mo AmC±N> ^Zr {dídmg N> ? 1 

(J) H${dH$mo ‘gm»I¡ H${dVm’ Hw$Z H${dVm hmo ? 1 

(K) H${d {H$Z nNw>Vmo _mÝN>Z² ?  1 

(L>) ‘AaWr’ H$mo AW© bo»Zwhmog² & 1  
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SECTION B 

2. (H$) VbH$m {d{dY eãXhê$~mQ> gmo{YE ~_mo{O‘ CÎma bo»Zwhmog² : 

(i) ‘{V_«mo_m {H$Vm~ N> &’ `hm± A{YH$aU H$maH$ Hw$Z hmo ? 1 

(ii) g_mg_m ê$nmÝV[aV JZw©hmog² : 
2

1
2=1 

 bm_mo IwÅ>m ^EH$mo, bmIH$mo n{V  

(iii) gma eãX bo»Zwhmog² : 
2

1
2=1 

OñVmH$mo VñV¡  

ewéXo{I Am{Iagå_  

(iv) {^ÞmW©H$ eãX bo»Zwhmog² (Hw$Z¡ EH$  Omo‹S>r ) : 
2

1
2=1 

 {dZm – drUm 

 hma – hmS> 

(v) {dnarVmW©H$ eãX bo»Zwhmog² (Hw$Z¡ XþB ) : 
2

1
2=1 

 CËWmZ, K¥Um, ~ÝYZ  

(vi) XþB-XþBdQ>m AZoH$mW©H$ eãX bo»Zwhmog² (Hw$Z¡ XþB ) : 
2

1
4=2 

 ag, H$b, CÎma 

(vii) XþB-XþBdQ>m n`m©`dmMr eãX bo»Zwhmog² (Hw$Z¡ XþB ) : 
2

1
4=2 

 Mm±‹S>mo, XþO©Z, H$mo_b 

(viii) {ZåZ dm½YmambmB© AW© IwëZoJar dmŠ`_m à`moJ JZw©hmog² (Hw$Z¡ XþB ) : 12=2 
 EH¡$ Am±Imbo hoZw© – 

 KmC_m ZyZ N>Zw©   – 

 N>mVr_m Tw>L²>Jmam»Zw – 

(ix) ewÕ Jaoa bo»Zwhmog² : 12=2 

(A) _oamo Am_mbo ImZm nH$mC±N> &  

(Am) a_oebmB© CgH$mo ~m~wbo {X„r~mQ> {_R>mB© ë`mB{X`mo & 

(x) {ZåZ{b{IV dmŠ`hê$bmB© AH$aU_m n[adV©Z JZw©hmog² : 12=2 
(A) a_oe am_«mo _mÝN>o hmo &  
(Am) XmÁ`yH$mo gmWrhê$ ~Oma Om±X¡N> &  
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SECTION C 

3. (H$) Zonmbr‘m AZwdmX JZw©hmog² : 5 

The milkman’s cow was in a bad mood. It sat in the middle of 

the road and refused to move. The milkman begged the cow to get 

up. He pulled and tugged and prayed. But the cow wasn’t going 

anywhere that day. 

(I) Hw$Z¡ EH$  {df¶‘m{W 250 eãXgå‘H$mo {Z~ÝY bo»Zwhmog² : 12 

(i) gmd©O{ZH$ ñWb / gån{VH$mo g§ajU_m Am_ OZVmH$mo gh^m{JVm  

(ii) `moJ gmYZmH$mo _hÎd  

(J) ‘ñdÀN>Vm A{^`mZ’ ~mao àH$me nmX£ JmC±_m ahoH$m {à` {_ÌbmB© ECQ>m amoMH$ nÌ 

bo»Zwhmog² &  8 

 

SECTION D 

 

4. (H$) Hw$Z¡ EH$  àíZH$mo CÎma g§jon_m bo»Zwhmog² : 2 

 H$mboH$s Am_mbmB© AmnX-{dnX Oht n{Z AmC±Xmo ahoN> ^Þo Hw$amH$mo kmZ H$gar  
^`mo ?  

 AWdm 

 ‘gmoPm’ {Z~ÝY_m {Z~ÝYH$mabo g§gma_m XmZdVm IV_ JZ©bmB© Ho$ JZw©nN© ^ZoH$m  
N>Z² ?  

(I) ‘nmC nwOoa {XEH$mo {V_rbmB© hmo, AmâZr ñdmñZr amOr JamD$ b¡OmD$... &’  

(i) `hm± H$gbo nmC nwOoa Ho$ {XEH$m N>Z² ?  1 

(ii) ‘AmâZr ñdmñZr’ ^Zoa H$gH$s ñdmñZrH$mo Hw$am J[aEH$mo hmo ? {VZH$mo Zm_ Ho$ 
hmo ?  1 
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(J) n{R>V nmR>H$mo AmYma_m ghr CÎma MwZoa Imbr R>mC± ^Zw©hmog² : 
2

1
+

2

1
=1 

(i) XmZd, XþîQ>, XþO©Z gmoPmhê$H¡$ ^mobmnZH$mo __________ CËnÞ ^EH$mo 
{dñ\$moQ> hmo &  

 A. H$moI~mQ> 

 Am. {X_mJ~mQ>  

 B. _Z~mQ> 

 B©. ½`mg~mQ>  

(ii) Mm‘oH$s ñdmñZr Jm¢Wbr gmõ¡ _________ {WB© &  

 A. ~mR>r  

 Am. {gnmbw  

 B. _wImbo 

 B©. Nw>ƒmo 

(K) EH¡$ eãX `m dmŠ`_m CÎma bo»Zwhmog² : 1+1+1=3 

(i) ‘nambH$mo AmJmo’ H$Wm_m bmo½Zo-ñdmñZrH$mo PJ‹S>mbmB© Ho$’{gV VwbZm J[aEH$mo 
N> ?  

(ii) ‘amV^[a hþar Më`mo’ H$Wm_m {ZZrH$s Am_m H$mo hþZ² ?   

(iii) ‘_Z’ ZmQ>H$_m ^mZwamO a gwbmoMZmbo H$gar _Z} BÀN>m Omhoa JaoH$m N>Z² ? 

5. (H$) Hw$Z¡ EH$  H$mo g§jon_m ^md-{dñVma JZw©hmog² :  2 

 ‘‘hm_«m bm{J KaH$mo XÿY nmZrg[a N>  

 Zm¡-bmI Vmam Q>m‹T>m hþZmbo Vmam N>Z² 

 am_o, Mm_o hH}$, drao PQ>mam N>Z² &’’ 

AWdm 

 ‘‘H$ñVmo {~Or Nw> nyOm JZ© n{Z {^`mC±{XZ±  

 Xr`mo ~{bahZy ^Zoa {dOwbrH$mo ~ë~bmB© AõmEH$mo Nw> &  

 AmaVrH$mo {Oå_m Š`mgoQ>bmB© {XEH$mo Nw> &’’ 
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(I) N>moQ>m CÎma bo»Zwhmog² : 1+1+1=3 

(i) ‘B©g ² n‹T²>>Kw Voamo H${dVm’ _m\©$V² H${dÁ¶ybo H$gbmB© ì`L²>J H$goH$m N>Z²> ?   

(ii) ‘gË`-gÝXoe’ H${dVmAZwgma _ZH$mo {Vg©ZmH$mo Qw>“mo bmJon{N> _mÝN>obmB© Ho$ 
AZw^d hþÝN> ?  

(iii) ‘`mÌr’ H${dVm_m ‘`mÌr’ H$gbmB© ^{ZEH$mo N> ?  

(J) Hw$Z¡ EH$  H${dVmH$mo gmam§e bo»Zwhmog² : 3 

A. AmH$meH$mo Vmam Ho$ Vmam   

Am. B©g ² n‹‹T²>Kw Voamo H${dVm  

6. {ZåZ àíZhê$H$m N>moQ>m CÎma bo»Zwhmog² : 15=5 

(H$) ‘àm`píMV’ H$Wm‘m H$gbo àm`píMV JaoH$s N>Z² ?  

(I) EoVo nmBbQ> aob ñQ>oeZH$mo H$m_ ~mhoH$ AH$m} Ho$ Jaoa AmâZmo AmåXm_r ~‹T>mCÏ`mo ? 

(J) n[a~ÝX_m \±$goH$m aZo Hw$Z ECQ>m Hw$ambo gÝVmoH$ _mÝN>Z² ?  

(K) Q>moQ>mobmH$mo \y$b H$ñVmo \y$b hmo ? 

(L>) hdëXmabmB© H$WmH$mabo àW‘nëQ> H$hm± ^oQ>oH$m {WE ? 

7. Hw$Z¡ Mma  àíZhê$H$m CÎma bo»Zwhmog² : 14=4 

(H$) gm{hË¶H$ma {edHw$‘ma amB©Ûmam {b{IV Hw$Z¡ XþB H¥${VH$m Zm‘ bo»Zwhmog² & 

(I) KZí`m_ Zonmb Ûmam gånm{XV Hw$Z¡ XþB nwñVH$H$m Zm_ bo»Zwhmog² & 

(J) ‘Z~hmXþa ‘w{I¶mH$m Hw$Z¡ XþB ZmQ>H$H$m Zm_ bo»Zwhmog² & 

(K) {edHw$_ma amB©H$mo OÝ_ H$hm± a H${hbo ^EH$mo hmo ?  

(L>) Vwbgr~hmXþa N>oÌr ‘AnVZ’ bo gm{hË¶ AH$mX‘r nwañH$ma àmßV JaoH$m nwñVH$H$mo Zm_ 

bo»Zwhmog² & 

 


